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CLASS : 10th (Secondary) Code No. 2134 
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APPAREL, MADE-UPs AND HOME FURNISHING 

National Skills Qualification Framework (NSQF) 

[ Hindi and English Medium ] 

Level – 2 

(Only for Fresh/Re-appear/Improvement/Additional Candidates) 

Time allowed : 2
2
1  hours ] [ Maximum Marks : 60 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 30 gSaA  
 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 30 questions. 

 

•••• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kkijh{kkijh{kkijh{kk    ds mijkUr bl ds mijkUr bl ds mijkUr bl ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

funsZ'kfunsZ'kfunsZ'kfunsZ'k    %%%%        

Instructions : 

        (i) lHkhlHkhlHkhlHkh iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA    

   All questions are compulsory. 

 (ii) iz'u la[;k 1 ls 15 rd oLrqfu"B ¼cgqfodYih;/,d 'kCn/fjDr LFkkuksa dh iwfrZ/dFku vkSj 
dkj.k½ izdkj ds iz'u gSa izR;sd 1 vad ds gSaA 

  Question No. 1 to 15 are Objective (MCQ/One Word/Fill in the Blanks/ 

Assertion & Reason) Type's Questions carrying 1 mark each. 

  (iii) iz'u la[;k 16 ls 21 rd vfry?kq mÙkjh; izdkj ds iz'u gSa izR;sd 2 vadksa ds gSaA 

  Question No. 16 to 21 are Very Short Answer Type Questions carrying       

2 marks each. 

 (iv) iz'u la[;k 22 ls 27 rd y?kq mÙkjh; izdkj ds iz'u gSa izR;sd 3 vadksa ds gSaA 

  Question No. 22 to 27 are Short Answer Type Questions carrying 3 marks 

each. 
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 (v) iz'u la[;k 28 ls 30 rd nh?kZ mÙkjh; izdkj ds iz'u gSa izR;sd 5 vadksa ds gSaA 

  Question No. 28 to 30  are Long Answer Type Questions carrying 5 marks 

each. 

[k.M [k.M [k.M [k.M – vvvv 

SECTION – A 

¼¼¼¼oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u½½½½    

(Objective Type Questions) 

1. ………… nks ;k vf/kd diM+ksa ds VqdM+ksa dks tksM+us dh ,d fof/k gSA  1 

 (A) dfVax (B) lhe 

 (C) ekfd±x (D) buesa ls dksbZ ugha  

 ………… is a method of binding two or more pieces of fabric. 

 (A) Cutting (B) Seam 

 (C) Marking (D) None of these 

2. nk¡rsnkj dSaph tks ftx+tS+x fdukjk cukrh gSa] mUgsa ………… dgk tkrk gSA 1 

 (A) frjNh iêh (B) nkarsnkj dSaph 

 (C) ltZj (D) ft+xtS+x flykbZ 
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 ………… are serrated scissors that create a zigzag edge. 

 (A) Bias tape (B) Pinking shears 

 (C) Serger (D) Zigzag stitch 

3. tsc fdrus izdkj ds gksrs gSa \ 1 

 (A) 6 (B) 4 

 (C) 3 (D) 9 

 How many types of pockets are there ? 

 (A) 6 (B) 4 

 (C) 3 (D) 9 

 

4. fofHkUu izdkj ds QkLVuj gSa % 1 

 (A) DySLi (B) ftij 

 (C) fjcu (D) mijksDr lHkh 

 Different types of Fasteners are : 

 (A) Clasps (B) Zippers 

 (C) Ribbons (D) All of the above 
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5. oL=ksa dks can djus ds fy, mi;ksx dh tkus okyh phtsa gSa %  1 

 (A) QkLVuj 

 (B) iSpsl 

 (C) 'kh'ks 

 (D) mijksDr lHkh 

 ………… are the things used to close garments. 

 (A) Fasteners  

 (B) Patches 

 (C) Mirrors 

 (D) All of the above 

6. ukSdjh dkMZ dk mi;ksx fdlds fy, fd;k tkrk gS \ 1 

 (A) deZpkfj;ksa dh Nqfê;ksa ds fnu lwphc) djus ds fy, 

 (B) dk;ZdrkZvksa dks lkSais x, dk;ks± dk fooj.k fjdkWMZ djus ds fy, 

 (C) dk;kZy; ds [kpks± dks VªSd djus ds fy, 

 (D) deZpkfj;ksa dk osru fudkyus ds fy, 
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 What is a job card used for ? 

 (A) To list the vacation days of employees 

 (B) To record details of tasks assigned to workers 

 (C) To track office expenses 

 (D) To calculate employee salaries 

  7. ………… oL= dh vkLrhu ds fupys fdukjs ij dykbZ ij] ;k irywu ds ika;ps ds V[kus okys fljs ij 
yxh diM+s dh ,d ijr gksrh gSA 1 

 A ………… is a layer of fabric at the lower edge of a garments sleeves at the wrist, 

or at the ankle end of a trouser leg. 

  8. ^^,d yach] ,d-VqdM+k vkLrhu] tks ckWfMl dk foLrkj gksrh gS vkSj dykbZ rd tkrh gS] mls ………… 

vkLrhu dgk tkrk gSA** 1 

 "A long, one-piece sleeve that is an extension of the bodice and extends to the 

wrist is known as ………… sleeves." 

  9. ^^………… os phtsa gksrh gSa tks oL=ksa dks can djus vkSj mUgsa dlus ds fy, mi;ksx dh                    
tkrh gSA** 1 

 "………… are the 'things' used to close garments, to fasten them." 

10. ^^fdl cVu ds ihNs ,d ywi gksrk gS vkSj bls vDlj tSdsV vkSj dksV ds fy, mi;ksx fd;k tkrk gS \** 1 

 "Which button has a loop on the back and is often used for jackets and coats ?"  
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11. ISO dk iw.kZ :i fyf[k,A 1 

 Write the full form of ISO. 

12. og 'kCn D;k gS tks ,d oL= esa flykbZ ds dqy ekud dks n'kkZrk gS \ 1 

 What term refers to the overall standard of stitching in a garment ? 

fuEufyf[kr iz'uksa ¼iz0 la0 13, 14 ,oa 15½ esa nksnksnksnks-nksnksnksnks    dFku] vfHkdFku (A) o dkj.k (R) fn, x, gSaA nksuksa 
dFkuksa dks /;kuiwoZd i<+s vkSj fuEu fodYiksa esa ls lghlghlghlgh fodYi dk p;u djsaA 

The following questions (Q. Nos. 13, 14 ,oa 15) have two statement each, Assertion 

and Reason (R). Read both statement carefully and choose the correct option given 

below. 

13. vfHkdvfHkdvfHkdvfHkdFkuFkuFkuFku    (A) : ukSdjh dkMZ deZpkfj;ksa dks lkSais x, dk;ks± dks VªSd djus ds fy, mi;ksx fd, tkrs gSaA 1 

 dkj.k dkj.k dkj.k dkj.k (R) :  ukSdjh dkMZ esa dk;Z dk fooj.k le; vkSj deZpkjh dh tkudkjh 'kkfey gksrh gSA  

    fodYi %fodYi %fodYi %fodYi %    

 (A) vfHkdFku  (A) vkSj dkj.k (R) nksuksa lR; gSa rFkk dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k  

gSA 

 (B) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa] ysfdu dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k 

ugha gSA 

 (C) vfHkdFku  (A) lR; gS] ysfdu dkj.k (R)vlR; gSA 

 (D) vfHkdFku  (A) vlR; gS] ysfdu dkj.k (R) lR; gSA  
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 Assertion (A) : Job cards are used to track tasks given to employees. 

 Reason (R) :  Job cards include details like task description, time and worker 

information. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false.  

 (D) Assertion (A) is false, but Reason (R) is true. 

14. vfHkdvfHkdvfHkdvfHkdFkuFkuFkuFku    (A) : lrr fodkl i;kZoj.k dh j{kk djus esa enn djrk gS] tcfd vkfFkZd o`f) dk leFkZu 

Hkh djrk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) :  ;g lqfuf'pr djrk gS fd lalk/kuksa dk mi;ksx ftEesnkjh ls fd;k tk, rkfd Hkfo"; dh 
ihf<+;k¡ Hkh viuh vko';drkvksa dks iwjk dj ldasA 

 fodYi %fodYi %fodYi %fodYi %        

 (A) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa rFkk dkj.k (R), vfHkdFku  (A) dk lgh Li"Vhdj.k gSA 

 (B) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa] ysfdu dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k 

ugha gSA 

 (C) vfHkdFku (A) lR; gS] ysfdu dkj.k (R) vlR; gSA 

 (D) vfHkdFku  (A) vlR; gS] ysfdu dkj.k (R) lR; gSA  
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 Assertion (A) : Sustainable development helps protect the environment while 

supporting economic growth. 

 Reason (R) :  It ensures that resources are used responsibly so that future 

generations can also meet their needs. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A)  and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false.  

 (D) Assertion (A) is false, but Reason (R) is true. 

15. vfHkdvfHkdvfHkdvfHkdFkuFkuFkuFku    (A) : O;fDr lrr fodkl izkIr djus esa egÙoiw.kZ Hkwfedk fuHkkrs gSaA 1 

 dkj.k dkj.k dkj.k dkj.k (R) :  O;fDrxr fØ;k,¡] tSls dpjs dks de djuk] ikuh cpkuk vkSj ikfjfLFkfrdh ds vuqdwy 

mRIkknksa dk leFkZu djuk] lh/ks i;kZoj.k laj{k.k vkSj lalk/ku izca/ku esa ;ksxnku djrh gSA 

 (A) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa rFkk dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k gSA 

 (B) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa] ysfdu dkj.k (R), vfHkdFku (A) dk lgh Li"Vhdj.k            

ugha gSA 

 (C) vfHkdFku (A) lR; gS] ysfdu dkj.k (R) vlR; gSA 

 (D) vfHkdFku  (A) vlR; gS] ysfdu dkj.k (R) lR; gSA  
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 Assertion (A) : Individuals play a crucial role in achieving sustainable 

development. 

 Reason (R) :  Personal actions, such as reducing waste, conserving water, and 

supporting eco-friendly products, directly contribute to 

environmental protection and resource management. 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false.  

 (D) Assertion (A) is false, but Reason (R) is true. 

[k.M [k.M [k.M [k.M – cccc 

SECTION – B 

¼vfr y?kq mÙkjh; iz'u½¼vfr y?kq mÙkjh; iz'u½¼vfr y?kq mÙkjh; iz'u½¼vfr y?kq mÙkjh; iz'u½    

(Very Short Answer Type Questions) 

16. QA psdfyLV D;k gS \ 2 

 What is a QA checklist ? 
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vFkokvFkokvFkokvFkok    

OR 

 ^^lqbZ ds vkdkj dh tk¡p** ij ,d uksV fyf[k,A 

 Write a note on "Needle size checking." 

17. ^baVj-ywfiax vkSj baVªk-ywfiax* ds chp D;k vUrj gS \ 2 

 What is the difference between 'Inter-looping and Intra-looping' ? 

18. izHkkoh lapkj esa ck/kkvksa ds fofHkUu izdkj dkSu-dkSu-ls gSa \ fdUgha nks nks nks nks izdkjksa dks foLrkj ls le>kb,A 2 

 What are different types of barriers to effective communication ? Explain any 

two in detail. 

19. ^^#fp;ksa vkSj {kerkvksa** ds chp nks nks nks nks varj fyf[k,A 2 

 Write two differences between "interests  and abilities". 

vFkokvFkokvFkokvFkok    

OR 

 ^le; izca/ku* ls vki D;k le>rs gSa \ 

 What do you understand by 'Time Management' ? 
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20.    MsVk dh lqj{kk ds dkSu-dkSu-ls rjhds gks ldrs gSa \ 2 

 List the various ways you can use to protect your data. 

21. ,d lQy m|eh dh nks nks nks nks fo'ks"krk,¡ fyf[k,A 2 

 Write two qualities that a successful entrepreneurs has.  

    [k.M [k.M [k.M [k.M –    llll    

SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

22.    "Facing vkSj Cross grain" D;k gksrk gS \ 3 

 What is "Facing and Cross grain" ? 

vFkokvFkokvFkokvFkok    

OR 

 Bound seam vkSj Lapped seam esa D;k vUrj gS \ 

 What is the difference between Bound seam and Lapped seam ? 
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23. dkWyj ds fofHkUu izdkjksa dk o.kZu djsaA 3 

 Describe different types of Collar ? 

vFkokvFkokvFkokvFkok    

OR 

 VDl dks ifjHkkf"kr djsaA VDl ds fdlh Hkh rhurhurhurhu izdkj dh O;k[;k djsaA 

 Define Tucks. Explain any three types of tucks. 

24. QkLVujksa dh flykbZ djrs le; /;ku esa j[kus ;ksX; dqN egÙoiw.kZ fcanq fyf[k,A 3 

 Write some important points to be kept in mind while sewing fasteners. 

25. Vsi D;k gS \ fdUgha nksnksnksnks dks crkb,A 3 

 What is tape ? Explain any two. 

26. xkes±V fujh{k.k izfØ;k dk ¶yks-pkVZ cukb;sA 3 

 Make a Flow-chart of garment inspection. 

27. ^^ykWd fLVp** ds rhurhurhurhu uqdlku fyf[k,A 3 

 Write three disadvantages of Lock Stitch. 
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[k.M [k.M [k.M [k.M –    nnnn    

SECTION – D 

¼¼¼¼nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½    

(Long Answer Type Questions) 

28. ^lhe* ls vki D;k le>rs gSa \ fdlh Hkh pkj pkj pkj pkj izdkj dh lhEl dks foLrkj ls le>kb,A 5 

 What do you understand by 'Seam' ? Explain any four types of seams in detail. 

vFkokvFkokvFkokvFkok    

OR 

 ^lhe fQfuf'kax rduhdksa* ds ckjs esa foLrkj ls fyf[k,A 

 Write about 'Seam Finishing Techniques' in detail. 

29. e'khuksa dh fLFkfr dh tk¡p djrs le; /;ku j[kus ;ksX; dqN fcanq fyf[k,A 5 

 Write some points to keep in mind while checking the condition of machines. 

vFkokvFkokvFkokvFkok    

OR 

 oL= fujh{k.k ds fofHkUu dne dkSu-dkSu-ls gSa \ foLrkj ls le>kb,A 

 What are the different steps in garment inspection ? Explain in detail. 
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30. Hkkjr esa tkc dkMZ D;k gS \ tkc dkMZ ds izdkj D;k gSa \ 5 

 What is job card in India ? What are the types of Job Card ?   

vFkokvFkokvFkokvFkok    

OR 

 oL= ?kVd fofunsZ'k D;k gksrs gSa] vkSj bUgsa oL= fuekZ.k fooj.k i= esa dSls foLrkj ls fn;k tkrk gS \ 

 What are garment component specifications, and how are they detailed in a 

garment construction sheet ? 

S 

 

 


